ATOMIC ENERGY CENTRAL SCHOOL 2, Mumbai
PERIODIC TEST -1
CLASS VIII ENGLISH DATE: 23.07.24
Time allowed: 90 minutes. Max. Marks 40

General Instructions:
1. Read all the questions carefully and attempt all the questions accordingly.
2. There are three sections in this paper — Reading, Writing, Grammar and Literature.

SECTION A - Reading Comprehension (10 Marks)
1. Read the following passage and answer the questions:

In order to explain certain natural events, such as earthquakes, windstorms, thunder and lightning storms, the
Greeks invented a collection of myths and characters. Just as with most modern religions, Greek mythology
bases most of its myths on morality and ethics issues. Unlike Egyptian mythology, the Greeks did not focus
on what was going to happen in their afterlife. They were more concerned with the here and now. There were
no written special commandments in Greek mythology.

The Greeks did, however, base most of their moral and ethical ideals on the Iliad and the Odyssey,
both written by Homer. In his work, Homer says that man holds his own fate in his hands. He portrays that
wrath will cause much suffering, pain and even death. Homer formed the fundamental attitude of the Greek
mind. He established the foundation of excellence for all aspects of life and the Greeks put these into their
reality. Nothing was known about Homer or any part of his life, so the question arises as to whether Homer
was a single individual or was he, in actuality, a collection of authors. The Greeks had a polytheist culture.
Unlike the religions of other ancient civilizations, the Greeks created gods in their own image. They were
holy deities that could make contact with humans, often in disguise. The gods had the same desires as human
beings and the myth often portrayed them as greedy and vengeful.

Answer any five questions out of the following: (5X1=5)
(a) What did the Greeks do to explain natural events?
(b) How is Greek mythology different from Egyptian mythology?
(c) What is the basis of Greek myths?
(d) What idea does Homer have about man’s fate?
(e) What was the confusion about Homer?
(f) Which word in the passage is similar in meaning to “folk tales”?
(i) mythology (ii)disguise  (iii)commandments (iv)deities

Q.2: Read the following passage and answer the questions that follow:

‘Khadi’ means cloth that is hand-spun and hand-woven. Mahatma Gandhi revived Khadi as a symbol of
nationalism, self-reliance and equality. In 1918, when he first started the Khadi Movement, Gandhiji had
envisioned the handwoven fabric as a means of income for poverty stricken masses, but around 1934-35, he
started advocating the use of Khadi for oneself - as a part of his 'Swadeshi' (using domestic products) and
‘Swaraj' (using self-governance) movements. The spinning wheel which used to be a symbol of poverty and
backwardness rose to symbolize self-sustenance and non-violence, and went on to play a special role in the
Freedom Movement of India.

When we promote Khadi, we address the social problems of India at several levels. As villagers spin Khadi
for their own use, they can plant and harvest their own raw-material to produce the yarn, spinning wheel can
be made easily too with little capital or outlay, and every man and woman of the village learns to spin and
weave. Increasing domestic consumption of Khadi is one of the best ways to boost the economy of rural India,
and generate ready employment. The entire cycle of producing Khadi and wearing it gives work to low-
skilled people.Khadi is made of natural-fibre (specifically cotton). It is porous, is suitable for the climate of
India, and is quite eco-friendly. The use of cotton is good for health, especially for people who have skin
problems.
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Answer the following questions: (5X1=5)
(a) What did Gandhiji make Khadi a symbol for?
(i) nationality (ii)self-reliance (ii)equality  (iv)all
(b) How did the significance of the spinning wheel change?
(c) How is Khadi usage healthy?
(d) What is one of the most effective ways of boosting the rural Indian economy?
(e) What does Khadi mean?

SECTION B - WRITING AND GRAMMAR (16 Marks)

3. As Nitin/Neeta, the Music Captain of your school, draft a notice to invite participation for Classical Solo
Song Competition for all the secondary students. 4)

4. Read the following conversation and write a message for Rohan as Ria: 4)
Nisha: Can | speak to Rohan?
Ria: Oh, no! He is out for some work.
Nisha: Okay. Please tell him that he should bring his completed notebook for correction on Monday.
5. Rearrange and rewrite the following sentences and: (2)
(a) change/climate/real/now/is/a/threat
(b) ignoring/without/it/should/think/we/about/ways/conserving/of/it
6. Fill in the blanks with correct forms of the words given in the bracket: (3)

It (a) (rain) when I came here. | (b)___ (get) wet because | had forgotten my umbrella. We must never
(c)_(forget) our umbrellas these days for sure.

7. Edit the errors in the following paragraph: 3)

Error Correction
It have been four years since @
| coming to this place. It hasn’t (b)

changed a bits since the last time.  (c)

SECTION C - LITERATURE (14 Marks)

8. Briefly answer ANY FIVE of the following questions: (10)
(a) What jobs did Hans Wolf and Jim Macpherson have when they were not soldiers?
(b) Why according to the soldiers, was Sports a better way to resolve conflicts than war?
(c) Did the ant lend food to the cricket? What was the ant’s principle?
(d) Why does the ant ask the cricket to “dance” the winter away?
(e) Where did the lazy camel live? What did he like to do?
() What is the purpose of the camel’s hump?

9. Answer the following question in about 80 words: 4)
Materialistic gifts are not as valuable as something as a handwritten letter from a family member . Discuss with
reference to ‘The Best Christmas Present in the World’.
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ATOMIC ENERGY CENTRAL SCHOOL NO.2, MUMBAI
PERIODIC TEST - 1 2024-25

CLASS VIII SOCIAL SCIENCE DATE: 22.07.24

Time Allowed: 90 minutes Maximum Marks: 40
Question numbers 1 to 16 are Multiple choice questions. Choose the correct option.

1 | What is a botanical survey? [1]
a) A survey of plant resources
b) A survey of animal resources
c) A survey of a group of people in a region
d) A survey of the weather and climatic conditions of a place
2 | By which century, did the calligraphists copy and preserve the official documents? [1]
a) 21st century b) 17th century
c) 18th century d) 19th century
3 | Name the three - volume work of James Mill, the Scottish economist, and philosopher. [1]
a) A History of British India
b) An ancient History of India
c) Glimpses of British History
d) Glimpses of India
4 | Which one of the following did the British stress apart from writing and preserving official [1]
documents, under the colonial administration?
a) Surveying b) Plotting
c) Graphing d) Measuring
5 | Who is the first Governor - General of India? [1]
a) Lord Hastings b) Lord Dalhousie  ¢) Warren Hastings d) Lord Mountbatten
6 | What were the important results of the Fourth and final Anglo - Mysore War in 1799? [1]
a) Tipu Sultan emerged victorious and the British were defeated
b) Tipu Sultan was defeated, and he accepted the Subsidiary Alliance System by Lord
Wellesley
c) The Nizam of Hyderabad was killed by the combined forces of British and Tipu Sultan and
the kingdom annexed to Mysore
d) Tipu Sultan died half of the kingdom of Mysore was divided between the British and
Nizam and the other half was given to the original Raja of Mysore
7 | Which one of these was annexed on the basis of Dalhousie’s Doctrine of Lapse ? [1]
a) Punjab b) Awadh c) Satara d) Hyderabad
8 | How did the first Anglo-Maratha war ended in 17827 [1]
a) Marathas were defeated
b) There was no clear victor.
c) British won the war
d) None of these
9 | Choose the ultimate resource on the earth from the following: [1]
a) Petroleum b) Human beings
c) Solar Energy d) Copper
10 | From the following list, which one cannot be considered as a Localised resource. [1]
a) Copper b) Coal c) Iron d) Sunlight
11 | Pick out the option that best describes the term human resource development? [1]

1. Increasing the population of human beings.

2. Increasing the natural resources so that there is a proportionate increase in human
resources as well.

3. Improving the quality of people’s skills so that they are able to create more
resources.

4. Increase in technological development so as to increase the lifestyle of human beings.




a) Only 4 b) Only 1
c) Only 2 d) Only 3

12

Based on their origin, resources can be classified as ---------
a) renewable and non - renewable

b) abiotic and biotic
c) actual and potential

d) ubiquitous and localised

[1]

13

The directives to the government which ensure social and economic reforms are called
a) directive viewpoints b) directive values
c) directive philosophies d) directive principles

[1]

14

A few statements with respect to the secular state as specified in the Indian constitution are
given below. Pick out the one that is not applicable.
1. That one religious community does not dominate another.
2. That some members do not dominate other members of the same religious
community.
3. That the State power and religion go hand in hand.
4. That the State does not enforce any particular religion nor take away the religious
freedom of individuals.
a) Only 2 b) Only 1 c) Only 4 d) Only 3

[1]

15

What does the term Socialist refer to as per Indian Constitution?

a) Equal opportunities to every one to make use of the resources of the country
b) No discrimination on the basis of religion

c) An independent India, nol longer governed by any external authority

d) People of India govern themselves throught heir elected representatives

[1]

16

The Constitution states that all minorities, religious or linguistic, can set up their own
educational institutions in order to preserve and develop their own culture. Choose the
right which explains this.

a) Right to Freedom of Religion

b) Right to Cultural and Educational Rights

c) Right to Equality

d) Right to Constitutional Remedies

[1]

17

How did the British conquer India and established their rule?

[3]

18

Distinguish between natural and human resources.

[3]

19

Why does a democratic country need a Constitution?

[3]

20

Describe the changes that occurred in the composition of the company’s army.

[5]

21

Which two important factors can change substances into resources?

[5]

22

How does the Constituent Assembly drafted a constitution for independent India?

[5]




TRAY] Soll B4 [agTerd $hHib 2, Haa/Atomic Energy Central School No.2, Mumbai
R}f&rfﬁﬁ qA- 2024-25/Academic Session-2024-25
3{Taf¥d TRA&TT — 1/ PERIODIC TEST — 1

H&1/Class : VIII dRRa/Date: HHY/Time: 90 min
faa/Subject: SCIENCE 3fYH AT 3idh/Max. Marks:40
Section A
Choose the correct answer from the following (IMx11=11M)

1. Chemicals which kill weeds are known as
a) Weedicides b) herbicides c) fertilisers d) pesticides

2. Before sowing the seeds, it is necessary to break soil into smaller particles to get better yield. The main
tools used for this purpose are

a) Plough, hoe and cultivator b) Plough, seeddrill and winnower
c) Tiller, leveller and thresher d) Hoe, winnower and cultivator

3. The given agricultural equipment is used for what purpose?

\

\

a) It is used for sowing seeds. b) It is not used for sowing seeds.
c) Itis used for cutting and gathering mature crop manually.  d) It is used for separating grain from chaff.
4. Yeast are economically important because they
a) are used in tea and tobacco industry b) are used in wine and baking industry
c) Spread animal diseases d) spread plant diseases
5. Unicellular fungi is
a) Mushroom b) yeast ¢) Mould d) Penicillium
6. A dangerous human and cattle disease caused by bacterium is caused by
a) Dengue b) Malaria c¢) Anthrax d) Common cold

7. The petroleum product used for surfacing of road is called

a) Coal tar b) peat ¢) gasoline d) Bitumen
8. Which of the following is a pair of exhaustible natural resources?

a) Coal and soll b) Air and sunlight c) water and petroleum d) wildlife and minerals
Directions: Q. No: 9 & 11 consists of two statements — Assertion and Reason.
Answer the following by selecting an appropriate option from below:

a. Both Assertion & reason are true, and the reason is the correct explanation of the assertion.

b. Both Assertion & reason are true, but the reason is not the correct explanation of the assertion.
c. Assertion is true, but the reason is false.

d. Assertion is false, but the reason is true




9. Assertion (A): The loosening of soil allow the root to breathe easily.
Reason (R): the loosened soil helps in growth of earthworms and microorganisms
10. Assertion (A): Disease which spreads from an infected person to healthy person is known as non —
communicable disease.
Reason (R): The disease spreads from one person to another through air, water, food, physical contact or
insect
11. Assertion (A): Reena told Sunita that coal gas is obtained during the processing of coal to get coal tar.
Reason (R): Coal gas is used as a fuel in many industries situated near coal processing plants.
Section B (2M x 4 = 8M)

12. Why should the harvested grains be protected from moisture?
13. Draw a labelled diagram of a Plough
14. What are antibiotics? Give 2 examples of antibiotics

15. Write 2 uses of coke
Section C (BM x4 =12M)

16. Describe two methods of irrigation which conserve water.
17. Differentiate between manure and fertilisers (Any 3)

18. Write a note on usefulness of microorganisms in our lives.

19. Name three constituents of petroleum and write their uses.

SectionD (4M x 1 =4M)
Question No. 20 to 23 are based on the given text. Read the text carefully and answer the questions:

Petroleum is a dark oily liquid. It has an unpleasant odour. Itis a mixture of various constituents such as

petroleum gas, petrol, diesel, lubricating oil, paraffin wax, etc. Therefore refining is done in other to remove
impurities.

20. What is Full form of LPG
a) Light Petroleum Gas b) Liquefied Petroleum Gas
c) Long Pipe of Gas d) Long Petroleum Gas
21. What is the full form of PCRA?

a) Petroleum Conservation Resource Association
b) Petroleum Consumption Research Association
c) Petroleum Conservation Research Association
d) Petrochemical Consumption Research Association

22. Name the petroleum product used as fuel for stoves, lamps and jet aircrafts.
23. Define Refining
Section E (5M x1=5M)

25. a)What are food preservatives? Name and describe any 3 common food preservatives that are used in
day - to - day life. (4M)

b) What is the role of refrigeration in food preservation method? (1M)
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CLASS VIII MATHEMATICS DATE:19.07.2024
Time Allowed: 90 mins

ATOMIC ENERGY CENTRAL SCHOOL NO. 2, MUMBAI
PERIODIC TEST -1 (2024-2025)

Maximum Marks: 40

10

11

12
13

14

SectionA

=afor any rational number a.

a)ax 2 b)ax 3 c)ax 0 d)ax 1
To get the product 1, we should multiply 2—81 by:

8 =21 -8 21

1 4 1 4
Tell what property allows you to computeg X (6 X 5) = (5 X 6) X3

a) Associative property of multiplication b) Commutative property of additive
c) Associative property of addition d) Commutative property of multiplication
Find >+ (=2 )+ (= 2) +2
mn 9 18 18 9
2 3
a)g b); c)-3 d) -2
The subtraction of 11 times of x from 22 times of yis________
a)- 11y +22x b) 22y - 11x c)1ly - 22x d) 11x - 22y
Solve: x +7 — %= _ 3%
3 6 2
a)- 5 b) 4 c)3 d)5
If x - 2 —L,thenxis equal to
xX—2 x—-2
a)l b) 4 c)3 d) 2
6x—7 3x+1
Solve for x: =
3
a) 23/12 b) -23/12 c) 19/12 d)-19/12

Find the number of sides of a regular polygon whose each exterior angle has a measure of
200 ..

a) 20 b) 22 c) 24 d) 18

Which of the following statements is/are correct?

a) The diagonals of arectangle are perpendicular. b) None of these.

c) Every square is a rhombus. d) The diagonals of arhombus are equal.
SectionB

A 117§ mlong rope is cut into equal pieces measuring 7§ m each. How many such small

pieces are these?

Solve: 0.25 (4x- 5)=0.75x + 8

Find the measure of each exterior angle of a regular polygon of 9 sides.
Section C

Verify and name the property used
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-3 12 7 -3 12 7
(Zxo)xi=2x(2x2).
5 13 8 5 13 8

15 Solve:4(3p+2)- 5(6p- 1)=2(p- 8)- 6(7p- 4)
16 . 3t+5 __4t-3

Section D
18 Read the text carefully and answer the questions:

There are four sides and four angles in a parallelogram. Some of these are equal. There are
some terms associated with these elements that you need to remember.

Given a parallelogram PQRS in the following figure:

Please answer the following questions
1. Side PQis opposite to which side?

a) SR b) PS c) QR d) PS
2. Which of the following sides are adjacent?
a)QPand PS  b) PQand RS c)PSand SR d) PSand QR

3. Which of following are pairs of opposite angles?
a)£Pand £8S b)2Pand 2R c¢)«Sand 2R d)2Pand 2 Q
4. The angle opposite to£ Q is £

19 Manavi and Kuber each receive an equal allowance. The table shows the fraction of their
allowance each deposit into his/her saving account and the fraction each spends at the
mall. If the allowance of each isX 1260, find the amount left with each.

Where money goes |Fraction of allowance
Manavi Kuber
Saving account % lg
Spend at mall i Fj
Left over ? ?
20 solve: ox+] +1= x_;3
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